== A
N & o & AF & H Al A
20219 &= =20 LA HEXAA
24 #HAEX
M HHES =03t
Sl XgEy Yy st CERED
(o
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
HH KA 69,610,075 67,821,216 1,788,859
= 415,036
[ia 69,195,039
HESE2 =W 5,940,794 6,349,764 A 408,970
< 45,449
i 5,895,345
PNR=IR=s A3t 4,640,363 611,108 29,255
< 5,500
[ia 4,634,863
2| AEERI =4 2,762,337 2,695,632 66,705
201 234l 2,050,597 1,827,752 222,845
01 At &2l bl 117,880 108,260 9,620
1| 82,820
—golln NEXTHE S0
10,0002 * 502 500
SF Y PR E 7Y
40,0003 = 255 1,000
SAEH ZPAHIH T &
150,000& * 53 =« 43| 3,000
AHESASN RO 50,0002 * 308 1,500
JHE TN L BX 7Y
20,000& = 58 » 12& 1,200
NHZHE HaXE 228 M & 7=
M= 1,000,000& * 23 2,000
=0 S - HIAA EY
100,000& = 1 « 53] 500
FAE2E A=Y 2 170,000& * 123 2,040
HOICHAJIS=S I 2,000,000& * 14 2,000
JIE2 Ha4sEF +&  2,000,000& * 14 2,000
JIE=2 ¥ad=235 #2 3,000,000 = 14l 3,000
=8 2288 #¢ 18,000,000& * 14 18,000
28 =5 2 HA WA 150,000 * 108 1,500
EH=21 - ZJ1 - MOISJl +¢
30,000& = 1008 = 43l 1,200
2ELH DECR FOHADYL)| EH
60,000 = 3CH » 12& 2,160
SH=EI 885 7 10,000,000 * 14 10,000
o8 228 g =% HMH
1,000,000 * 34! 3,000
BAL B 8 3 2%
10,000,000 * 14! 10,000
LA 23 1,000,000& * 13l 1,000
FND AS 4,000,000& = 13l 4,000
A 2L R A EASH S 7Y
2,000,000& * 14 2,000
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SN HITR
M HHSEO U
Sl XgEy Yy st CERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OZaX eIt o8 s Z2aJis 24
8,000& 1,400 11,200
OXMEH =2 WL HHEH
20,000& = 45% * 3H * 23 5,400
303 L& 3 46,700 21,700 25,000
01 243 46,700 21,700 25,000
O3&Xt &0ts HEUE Ao 4,200
-=z8 500,000 * 3 1,500
— &= 300,000& * 3&Z= « 38 2,700
OF0I28 s Fot&d XN&
1,000,000& = 102l 10,000
Oy 243 29 X
500,000& * 1502 ¥ 7,500
OFIIMHBLY HTX o4
,000,000& = 254 25,000
307 g1+l & 202,000 192,000 10,000
02 IZtE A AMHEE 32,000 32,000 0
Og=sl =2olo ¢ XN 7,000,000 = 13l 7,000
Ondzseggdgads X
15,000,000& * 14 15,000
OUlEZ BYTAISALE At E8d3 XI&
10,000,000& * 14 10,000
05 RIZt2IEt = 170,000 160,000 10,000
ONFOR0E 98 2
170,000,000& * 14 170,000
308 XX EHH SOl A 20,000 26,500 A 6,500
13 2SOIHEHE & X 2 AL I 20,000 26,500 A 6,500
OJIEZelAMAE STE=
20,000,000 = 14! 20,000
405 TtakF S| 3,000 3,000 0
01 Rt EFH S 3,000 3,000 0
O&HENHE0E 25 +2  3,000,000& * 14 3,000
oA 25 1,857,526 1,765,196 92,330
101 @124l 170,880 217,584 246,704
04 JIZHHZ2XNSE =+ 170,880 217,584 A46,704
OEdsI & S8 M oY 92,400
—Jl=s 70,0003 = 4Y « 259 « 123 84,000
—E8= 84,000,000& = 10% 8,400
O=23 JIZH2Z2X 18 ¥ d4MEE=
6,540,000& = 12& 78,480
201 ¢4l 551,169 494,560 56,609
01 At 2t 2l 541,169 479,560 61,609
O e8| 141,000
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MBI
M. HHSEO 22U
el NyeEey 23 (el @)
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
—otE2A PR BY 768,350 x 12& 9,221
—2AH2AYR B2A 511,500& = 12& 6,138
—AEHLI HEE 24
5,000,000& * 14 5,000
—Z2=IHEEEY RN ZAEY
5,000,000& * 14 5,000
03 S AtS L ] 10,000 15,000 A5,000
OHM233 2=8lol & I8 A} 10,000
—ZEE -5 S 24 1,500& = 2,0000H 3,000
— 88 38 3,200
=0 S 200,000& * 50 A 1,000
20/ TH 60,000& * 2004 &~ 1,200
- SHAFE 1,000,000 = 102 1,000
— A HHl ¥ 2 X 3,800,000& 3,800
202 4] 295,200 301,360 A6, 160
01 2LHOHI 15,200 21,360 A6, 160
O#EAAL IS0l 100,0008 * 6Y = 128 7,200
OCIANSH & HEHLR =&Yl 7,000,000 7,000
O2xE MAS L et&s Ast bl
1,000,000& 1,000
05 323 WU 280,000 280,000 0
O22¢ uW=x0H(Z & ) 280,000,000 280,000
204 &2 = A H| 364,200 295,800 68,400
03 S8YRZEHI 364,200 295,800 68,400
OSdIREHY| 364,200
— org sl 50,000& * 500 * 12& 300,000
— ZHAH 80,000& ~ 49 « 12& 3,840
— NS 100,000 = 39 = 128 46,800
— Of &t 150,000& = 5% = 12& 9,000
—EsE 100,000& » 29 x 12& 2,400
—3R3 60,0008 » 3H x 12& 2,160
301 dEtE X = 159, 160 123,060 36, 100
04 A2 E WAL XA 54,420 54,420 0
OXs2dll Or2t2 R A 2HAH|
3,000 * 2 « 14J0CH = 365 30,660
OXsdgHll 42 RFHl XA
12,000 = 14JHCH =~ 120 20,160
OXsggl ¢ 34 N
100,000& = 30O » 12& 3,600
06 QI12t0I =2 04 B 37,500 37,500 0
OR2YOol& HH=> 1,500,000& * 259 37,500
09 #HALAHIXI &= 21,240 21,140 100




SN HITR
HzM: HHS8° 203
el NyeEey 23 (sl &2)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
OMESZUHNEHS SAIES 24X B4
50,000& x 8H x 43| 1,600
O0l& s YU 2AAHAL AKX AUIEA
0,000& * 6Y = 53| 1,200
OAN#NE ASt S 2 =4
8,000 * 400 3,200
Oseiwe Ags HAX L
4,000€& * 1,200 = 23| 9,600
OX<ExetsEos & EHA 24
88,0008 = 20 x 43| 640
OZo9o Y JEsAb Z2HX B4
5,000,000& = 13 5,000
12 JIEtE2 A= 46,000 4,000 42,000
24 MOt ZAH(ZF0l) 2,000,000& = 23| 4,000
O0ld AXHXH X 300,0008 » 140™H 42,000
303 A2 34,700 33,200 1,500
01 LAZ2 34,700 33,200 1,500
OE&ZB2R22 JIEE ¢ 300,000 = 459 13,500
OXE L DHZLR HEX A3t
500,000 = 249 12,000
OXEZ2RA ZAMZ 100,000& * 12& 1,200
O22< 2% MOetX Z A 4,000,000 = 23] 8,000
307 2iz2to| A 224,255 262,859 A 38,604
02 QIZ2IAAAIE E X 37,000 37,000 0
OflzxHSsY Iz A5 7,000,000 = 1A 7,000
OXsedn] 9= 235t 5,000,000& = 13| 5,000
OO0l & g2t 25,000,000 = 13l 25,000
03 UAHUHEESIHES 15,000 15,000 0
OpFEIEAN 230 22 X
15,000,000 = {14! 15,000
04 CIZ2tSHALALSE B X 25,000 45,000 A 20,000
O=0lo & JEaAl XIS
10,000,000 = 13| 10,000
OFAQ =3 K& 10,000,000& = 13 10,000
OBZ AtY DIZZE2AMH S /A
3,000,000& = 13| 3,000
O=20U8HMALAH SIMA <&
2,000,000& = 13 2,000
06 282 42,150 42,150 0
OO0 dM=esg=2 X 150,000 * 281H 42,150
07 g2X223 105,105 103,350 1,755
O22/d B8xX=z0=2 3,503,500& = 303 105,105
308 XAHXIEHSOIA 25,754 29,473 N3,719
1122 SUHUSHEAEAE A Y| 25,754 29,473 N3,719




SN HITR
M HHSEO U
Sl NWHIAY 2ot (B9 ®R)
5 - 4
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OXMO EESXLAMNTFBAAH 25 2 KX
g2 25,754,000& » 14l 25,754
309 MEZ 1,000 1,000 0
02 SRAAZ 2 SHILYEEZ 1,000 1,000 0
O3SRJ XY &ita U= 500,000& = 23| 1,000
403 MHXISHHE X201 & 31,208 0 31,208
02 S 2SO HEAE R 2 E AL B 31,208 0 31,208
OXHIH EEXNLAAZFEANAY loet =g
31,208,000& * 14 31,208
Eolo & A K& 3,000 3,000 0
< 3,000
201 L4l 1,000 1,000 0
= 1,000
01 At 22l 1,000 1,000 0
o8& 8% W& 80,000& * 10002 800
< 800
OdMNZE ARES 72 200,000& * 14 200
< 200
301 LEXZ 2,000 2,000 0
< 2,000
09 HALAHIX RS 2,000 2,000 0
OXLQlo & AL F4X ¢l
50,000& = 409H 2,000
< 2,000
HETHA XNES At 17,500 17,500 0
< 2,500
s 15,000
307 gl2tol & 17,500 17,500 0
< 2,500
[ia 15,000
02 Pt HAMHEE 17,500 17,500 0
OYxuoiit NA&S 17,500,000 14 17,500
< 2,500
[ia 15,000
dES4 elZer 2= 1,216,412 1,654,670 N 438,258
< 16,782
e 1,199,630
2229 WA s 505,835 734,308 N 228,473
201 L4l 253,691 239,012 14,679
01 At 22l 93,290 97,470 A 4,180
O e8| 82,540
— 823 28 M (22X 8) 7Y
10,0008 * 50 500




2A: HEXRA A
HzM: HHS8° 203
el HEE4 EZa 2% CEEEED
SN ED B (3H) - MEAY - BAS Ol &F o4 ﬁlgﬁ HDZ2
—2E Z26 BN 840 5 AN
60,000& = 203 1,200
~FESNA 29 ABE 7Y
1,000,000 * 14! 1,000
—EAOIE Ze|MA HHlA =2
2,500,000& = 1JH 2,500
— EZHOIX ZHQ MHA =42
60,000& = 8JH 480
— EMO|Xl SI2F0I0IE AMHIA 422
550,000 * 24! 1,100
—JjolEBES 2 S8 1 HE
500& = 1,000& 500
— 2 EHO0IX AHEO MHA ==
660,000 * 14! 660
N2 HME U AUSAAAL wolH 0T
T 100,000& * 204 2,000
—ANZ2P Z2ED|BAIAE (QIA - THAE &) U
HAHOIZ 2 100,000 * 307K 3,000
— F0HESESNs W 2
10,0008 = 200& 2,000
—BHAl m2 e ol 30,000& * 600 18,000
— WHPC XI1&Z 0l ¢ 30,0008 = 70= 2,100
—AENY AZEYO PY
1,500,000& * 12 1,500
—AME2 ATEYJAHMSLIIA E) 2L
420,000& = 50 21,000
—MEE ATEJAH(SZE2IA 2020 S) #
! 220,000& = 50 11,000
— J2H= AZTE 0 (PhotoShop) # &
500,000& = 15& 7,500
—PCYAEIOE B L FCH 7Y
100,000& * 654 6,500
osd44 7,150
~HUFEEE DF ALY UL Ol
500,000 = 13| 500
— %= H fAs MALT
70,000& = 10Y = 23| 1,400
~FUNSBHDE A ALY
35,000& = 2AI2F * 15 x 53] 5,250
OF=1=1:] 3,600
—dEBEAH &2 BRFA L2 EL =4
8,000® ~ 5 * 90 3,600
02 Z=22%H| 160,401 141,542 18,859
OAAEZH KXYl 159,046
— 2 HXUEMAIAE(H/W) S
59,000,000& * 4/100 2,360
—HMEESAAEY SAE4 57,447
- ORI 22l AIAE 28,600,000 = 13/100 3,718




2N
X ZH -
L= B

el

SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
EE =N PN 45,445,0008 « 13/100 5,908
gale AAE(01F3)

44,550,000 * 13/100 5,792
SRS AAH

35,090,0008 * 8/12 » 13/100 3,042

-8 OJHIFE ZEY A"

26,611,930 * 13/100 3,460
- 2Ue HeIEE HE AlAY

14,578,300 * 13/100 1,896
- N E2AO AAE

32,293,440€0 * 13/100 4,199
- HOHUSB Bl 22l AlAE

15,825,0008 * 13/100 2,058
DB OF Al A&l 50,770,000 * 13/100 6,601
2 FHoE 24 ALY

30,630,000 * 13/100 3,982
“PC HOIEE B5 AlAH

32,625,0008 * 13/100 4,242
sSgzOael AAE

47,040,000 * 11/100 5,175
-UHEAMST A EX AL

8,646,440 * 12/100 1,038
N EBE I ZREAAL

67,900,0002 * 5/12 » 12/100 3,395

-IHAYERRIAIAE

49,005,000 * 6/12 = 12/100 2,941

—2UetAAE SXES 25,282
- AP/DB A H 59,600,000 * 8/100 4,768
- AERIX 19,520,000 * 8/100 1,562
- JIEF H/W 96,294,000 * 8/100 7,704
- DBMS 74,594,0009 * 13/100 9,698
- JIEF S/W 15,500,000 * 10/100 1,550
— JbAIBEAIAE (TS QIEf S A HIA)
13,500,000 * 12/100 1,620
—JtASAIAE (IR AEIA)

21,673,6002 * 6/12 » 12/100 1,301
—QIEYICIA S/W  39,000,0009 * 11/100 4,290
— BB A AE (YY)

28,000,0008 = 7/12 » 12/100 1,960
- HE30S2 EHOIX |RANES 16,703

294 ¥=250s

35,300,000 * 13/100 4,589
BT FLI0IS

35,177,000€ * 13/100 4,574
INB B0

58,000,000 * 13/100 7,540

— A2 EHOIX SXE=2
217,300,0009 * 14/100 30,422




SN HITR
M HHSEO U
Sl HESM Qe 2E (B9 ®R)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
—dBANAE AH SXNES 17,661
Y HAE 2o MY
5,631,000& * 8/100 451
- X2t AH 5,631,000& = 8/100 451
S OHUSB M H 10,300,000% * 8/100 824
- VTL 9 MH 31,000,000& = 8/100 2,480
PCOHIEEES AAHE
1,910,000& = 8/100 153
- QIHUIOI AT (MH, AECIX)
34,605,000& = 8/100 2,769
-Jtds 29 A
16,000,000& * 8/100 * 2CH 2,560
tast 29 A&
22,000,000& = 8/100 1,760
t&s 2Y9 MH(UERZ)
19,900,000& * 8/100  6/12 = 204 1,592
hats 29 AEXN(UHEY)
22,300,000& = 8/100 » 6/12 892
- UHRAST FIEEX MY
4,021,600& * 8/100 322
- HOHoI Y 2ot 2HAIAE
19,530,000 = 8/100 1,563
S ZlAIAE M
11,243,0008 * 7/12 * 8/100 525
A AAE AECX
28,250,0009 * 7/12 = 8/100 1,319
O2Utctil &l Md HAH 28 AIAE
11,286,000& = 12/100 1,355
202 44l 13,000 15,800 A 2,800
01 = LH 4 b 13,000 15,800 A 2,800
OZFESHYSR JI=0Hl
100,000& *» 5& = 12 6,000
OZESHYR =0 7,000,000& 7,000
207 O] 34,000 154,000 A 120,000
02 & AHIH I 34,000 154,000 A 120,000
Ot SegxiEs 2e &84 2
14,000,000& * 1= 14,000
OITRHAHZEAIAE S HE A
20,000,000& =« 14 20,000
301 LEHZ 7,560 8,640 A 1,080
09 HAEHIX A S 7,560 8,640 A1,080
OZESNIES 2ZF ¥ NE=XUHE 0ddl
60,000& = 3F * 304 * 83 4,320
OZEZ30t= Festalhal &It (44l
60,000& * 6 * 304 = 3 3,240
307 gl2tol & 4,500 7,500 A 3,000




SN BEX A
M HHSEO U
Sl HESM Qe 2E (B9 ®R)
5 - 4
SN BA(SA) - MRAY - BES 0l &t o il HImEET
02 It M AHE L 4,500 7,500 A 3,000
OFZ0IS S&2 = 2HFE (Festa) &t
A& 1,500,000 * 3JH £ 4,500
308 AHXIEHHSOIA 125,784 127,556 A1,772
1137/ 2SoHUHSZHEAEALS I 125,784 127,556 NT1,772
O2UtAIAE 2EXE ALY
12,838,000& * 14 12,838
O38J1E MHol=2AI28 RAL
6,066,000 * 14 6,066
OZ33JIet d4FH FXE=
100,420,000& * 14 100,420
ONLAZTESHEZANLAE NMHAGAR SR
| 6,460,000 = 14 6,460
402 QI2H X201 M 6,300 6,300 0
01 2I2E 2 A B (RERTH ) 6,300 6,300 0
OZES0E XN 2 K&
2,100,000& * 3002 6,300
405 XtaHE SHI 61,000 175,500 A 114,500
01 AR ESFH S 61,000 175,500 A 114,500
OAMAEEZHO X 40,000,000& * 14l 40,000
O=2lct2 MAIAE OA3 34
5,000,000& =+ 12H 5,000
OF=Estu=sd FFRHE WA
1,000,000& * 16CH 16,000
F:2s0Sxd & 245t 63,372 62,514 858
< 13,782
s 49,590
307 glz2tol & 63,372 62,514 858
< 13,782
s 49,590
03 BIAHMHE2IHIEL 63,372 62,514 858
O&Esiote =2 g 2eli 224 XA
63,372,000& = 14 63,372
< 13,782
s 49,590
20 925t 15,000 15,000 0
< 3,000
2 12,000
402 BI2FX=20| M 15,000 15,000 0
= 3,000
[ia 12,000
02 QI EALS EZ (01X S) 15,000 15,000 0
OZEsiote 32dH &33H X
5,000,000& = 304 15,000
= 3,000




SN HITR
HzM: HHS8° 203
el HEE4 EZa 2% (sl &2)
SN ED B (3H) - MEAY - BAS Ol &F o4 ﬁlgﬁ HDZ2
| o 12,000
HEEA Al B2 632,205 780,928 N 148,723
201 gEt24y| 545,325 512,888 32,437
01 AF 2t 2| H| 7,480 7,480 0
Ogst=2H| 4,280
—dEBSANIBA ASE ZAF Y EAHE &0l
2 AZMA o4 200,0002! * 13| 200
—mA X Y EH PY
30,000 * 304 = 12&€ 1,080
—E8)] 2253 ¢ 1,000,000& = 33| 3,000
OF=1=1:] 3,200
— SN2 A2 22X S|
8,0008 » 4% * 100 3,200
02 Z2=2=24%4| 537,845 505,408 32,437
O3322 % HA 372,761
—HNNG ME2IA2
21,0008 * 973|& * 128 24,444
— oY E(MALE(2H-EH)
211,200& = 13/ * 128 2,535
— DBt M 2 (9600bps) SIS (2E ~ 220
, =& ~ B2AHA) 53,0008 x 23| & + 12€ 1,272
—olgte MZ2(2M) AMS(ESZHMEH ~ =
) 211,200 = 13| & * 12&€ 2,535
— 0IBt2l M Z(9600bps) B &S (S 2 A AEH
~ &) 121,440 = 18| = 12€ 1,458
— DIBt2l M Z(2400bps) B &S (S 2 A AEH
~ =) 12,6402 * 154 » 12 1,352
— WEAHL () HBILR(2H-TH)
284,680& * 13/& * 128 3,417
— BN (2d, 2AHA, BAHAIA, S
™) 5,000,000& = 12& 60,000
—SUESI ANEL2(2EH)
500,000 = 12& 6,000
— QoY ME(50M) SN2 (2E~CH)
718,960 = 13| & * 12&€ 8,628
— QY NSIY(BOAE M) &S
630,000& = 13| & * 12&€ 7,560
—HEESHEESAA(LAN) sldS (M) (A
A, sgIIsdH, SS2HHAH)
800,000& = 33|& * 12& 28,800
~HEEEEHESAY(LAN) SHZ (M) (2L
HAIRA 2 2504 A) 109,200
350,000& * 263| A x 12&€
—HEESHEEAA(LAN) 3l & 2(256K) (16
H BAHAIZ A, SHFOGXAEH)
220,000€ = 178l ~ 12€ 44,880
— 0 FOXBQEZ4A (Y &S

100,000& 112l » 123 13,200




MBI
M HHSE9 U
& FESH Zet 25 (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
—dAdsEd FUFE0SLY Ay 3
=3 300,000& = 13l » 123 3,600
—BHAZA FOUFE 018 3324000 ¢
HU 3ldz 33,000& = 143 & « 123 5,544
— 33 2A0/I0l 2IHY sz
33,000& = 1632l « 123 6,336
— 22X E(SMS) AA8E 3,500,000 + 128 42,000
OA&ZEHl s Xl 165,084
— Ol Y& 3D (9590H) 20,000& = 959CH 19,180
—dgtuedl ¥ S E
122,568,600 * 8/100 9,806
—QIHY ESAIAE Y SOHEH
30,813,200 = 8/100 2,466
— M HZESAAEY 32,670,000& = 8/100 2,614
—2RFE MAZSFEI(UPS)
1,000,000& * 26CH * 8/100 2,080
—SHIENEX (E2=sgoads, 23H,
Jlsngd) 11,711,000& = 8/100 937
—ANE SEHHTSAIAE
76,766,590% = 8/100 6,142
—UHESRT HEFLYSAAEH
95,503,280& = 8/100 7,641
— &3 HUEE 2SsE|
25,500,000& = 8/100 2,040
— LS SAIAE 207,320,000& = 8/100 16,586
— AU AIAE(IPS)(20H)
68,465,000& * 8/100 5,478
—UHE<2 gsHAA(20)
89,550,000 = 8/100 7,164
—EHAEEE VolPYtHAIAH
36,000,000& * 2CH = 8/100 5,760
— QA NEE LSHAALY
11,122,0002 * 2CH * 8/100 1,780
—RdYstd 17,849,000& = 8/100 1,428
— S S(2AOITOl) AIAE(AP, HE S
) 35,438,780& = 8/100 2,836
—HYSHHBS AL (LAN) EHI
730,319,980& = 8/100 58,426
— QY F=A e Al AE
44,342 ,100& = 8/100 3,548
— ANEEZAEHI 56,710,840 = 8/100 4,537
—ZFH ¥ A 100,000& * 8CH 800
— FAS O AIAE 47,933,830& * 8/100 3,835
202 Odl 8,800 11,240 A2,440
01 =2 LHA YI 8,800 11,240 A2,440
Osd2gaeld: Jl=0l
100,000& = 49 = 128 4,800
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SN BEX A
M HHSEO U
el SHS SIS CEE-ED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
== 2,639
s 6,157
101 @144 dl 4,261 7,775 N3,514
< 1,278
s 2,983
04 JIZHHZ2XREES 4,261 7,775 A 3,514
OAMSH Z=AH Q1 24H] 4,261,000& = 14! 4,261
< 1,278
s 2,983
201 et 4,535 11,007 AG,4T72
< 1,361
= 3,174
01 At 2teltl 4,535 11,007 AG,472
OMYMEA ESEAE =<
4,535,000& * 14l 4,535
< 1,361
s 3,174
SHZAL & 2tel 45,900 37,100 8,800
201 Let2d] 33,400 29,600 3,800
01 At 22l 33,400 29,600 3,800
Ogt=&H| 33,400
—0EZ SAHHE L2t 70,0002 » 1502 10,500
— 245 SHAXZA EH 2@ 100,000 * 54 500
— g8 =8 M 14,000& * 1,400% 19,600
—2E SAHZM BB #2Y RN
60,000& * 300H 1,800
~BHNEA TAH AS U %X 2Y
1,000,000 * 14 1,000
405 RHoHF S HI 12,500 7,500 5,000
01 AL EZFH S 5,000 0 5,000
OBFNEA MT BAS)| 29
5,000,000& =« 1CH 5,000
02 = A=l 7,500 7,500 0
OdFIZAY TN 7 15,000& * 500 7,500
S & deel 109,445 0 109,445
Xersdf z2el 109,445 0 109,445
RN el (KHA) 109,445 0 109,445
308 XXM SOl A 109,445 0 109,445
12 JIEtRE 3 109,445 0 109,445
Oxgasl d=2SAIXNSEHN =H L AABH
109,445,000& * 14 109,445
HMsSISHMTS 413,340 374,640 38,700
= 44,360




SN BYXAA
MY HASSHHRE
Sl mMsE DS CERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
o 368,980
gdsts u=s 413,340 374,640 38,700
< 44,360
s 368,980
ddsts 29 244,340 283,640 239,300
201 £B-2dH| 29,040 27,060 1,980
01 At 22l 12,040 10,060 1,980
Oget=gH| 7,900
—usld 28 228 2¢
500,000& * 4 2,000
—usIE 2d MI g
10,0002 * 4702 4,700
—usi& 8=2 M 60,000& = 203l 1,200
Oo2d+¢ 1,260
—~SDIATNANAARE HASS
70,0002 = 9H « 23| 1,260
Oz &l 2,880
~DENY YRET FA22T 24
8,000& * 4%H » 90¢ 2,880
03 A2 S HI 17,000 17,000 0
Ogdsrss0tel 2E3 M
5,000,000& = 14 5,000
OoMazZetHe 29 12,000,000& = 14 12,000
202 O4dl 8,800 10,080 A1,280
01 = LH o4 HI 8,800 10,080 A 1,280
OusXALL JlEnl
100,000& * 49 = 128 4,800
OuNsXNIALYR AN 4,000,000& 4,000
301 LA F 7,500 7,500 0
09 #HALAHIXI& 3 7,500 7,500 0
OBMdus 23 JI2CH 2SSl Fot3 ]
15,000& » 259 « 43| 1,500
OB dstssotel &HE3 FIHA 0dl
10,000& * 4004 4,000
Oud=Z2ItNs 25 &AL ZIHA O HI
10,000& = 100 * 23 2,000
307 21201 A 199,000 239,000 A 40,000
02 YAFHAANGFEX 50,000 90,000 240,000
OH=SSME XN (SH, B82)
25,000,000 = 200 A 50,000
05 RIZt2IE = 149,000 149,000 0
Osl&otatalol !& 2<¢  6,000,000& * 42| 24,000
Oolgu=s 2¢ 22 (L3 2)
15,000,000& * 23| 30,000




SN HITR
MY HASSHHRE
Sl BASS NS (S5 &)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
O0lstHeduls I 29
2,000,000& * 100 2 20,000
ONEZ BMsts2 29 20,000,000 = 23] 40,000
OOt BMsts A& 20,000,000 = 14! 20,000
OFAHE BT 2 15,000,000 = 14! 15,000
WMSISER2H(EX) 100,000 20,000 80,000
& 40,000
= 60,000
307 2iztol & 100,000 20,000 80,000
& 40,000
= 60,000
02 QIZ2IA AAIE E X 40,000 20,000 20,000
Odol8dins K& 20,000,000& * 14! 20,000
= 6,000
= 14,000
Od=EstsMy X (2A)
20,000,000& * 14! 20,000
= 10,000
= 10,000
05 QIZ2tR EF 2 60,000 0 60,000
Ood=s 29 60,000,000& * 14 60,000
= 24,000
= 36,000
ZMets et X 4,000 6,000 A 2,000
201 LBt | 1,000 2,000 A 1,000
01 AP 22| H| 1,000 2,000 A 1,000
Oo2d9sd 1,000
—musty wes] Soj2 ZOHE 2ALY
100,000€ *~ 1 = 108 1,000
206 M = dl 1,000 2,000 A 1,000
01 X2 bl 1,000 2,000 A 1,000
OmMsts sigs MEHa 7
1,000,000 = 1= 1,000
301 dEtE M= 2,000 2,000 0
09 #HAIAHI XIS 2 2,000 2,000 0
OmMsts stersl BN Ofb)
50,000& * 40H 2,000
TAMStS Btetg] XA (BX) 9,000 9,000 0
& 1,000
= 8,000
201 2Et24Hy| 9,000 9,000 0
& 1,000
= 8,000
03 Al A H| 9,000 9,000 0




SN HITR
MM HMSIESHMPAS
Sl mMsE DS CERED
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
OEdEcoEs EREL 29
9,000,000& = 1A 9,000
& 1,000
= 8,000
Lolna 29 56,000 56,000 0
== 3,360
= 52,640
307 2Iz2t0| & 56,000 56,000 0
& 3,360
= 52,640
02 DIZFEAAIRE E X 56,000 56,000 0
Okolna 89 X 8,000,000& * 702 56,000
= 3,360
= 52,640
S0t & =ESsSU=E 2EXNES 3,346,821 3,364,598 N7, 777
& 325,227
= 3,021,594
S0t 2 xEZsUE 2XNES 3,346,821 3,364,598 N7, 777
& 325,227
= 3,021,594
stgaAaldl X (XA 611,192 614,650 N 3,458
308 XX G SO0l A 611,192 614,650 N 3,458
08 W=sJl&otistE = 611,192 614,650 N 3,458
ORXY 2434 X
2,900€ * 700¥¢ » 190¥ 385,700
0% % =31 2824 N
430 * 2,760 » 190 225,492
st ZAHI A& 1,220,920 1,337,850 A 116,930
o= 300,177
= 920,743
307 2Iz2to| & 461,494 538, 151 NT6,657
& 72,349
= 389, 145
02 DIZHAAAIE E X 461,494 538, 151 NT6,657
OBASME ADZA N (SN, -5
nsEstw) 461,494 ,000& = 14! 461,494
= 72,349
= 389, 145
308 XtXI &M S0 & 759,426 763,299 A3,873
< 227,828
= 531,598
08 W=EJl&otistE = 759,426 763,299 N3,873
Oz % -1s%D 34 X8
759,426,000& * 14! 759,426
= 227,828
= 531,598




SN BEX A
M R0t € ==sn=E =SS
o2 R0t ¥ TSNS EXNES EEREEED)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
N sk 1,358,709 1,187,200 171,509
201 £B-2d| 7,200 12,800 25,600
01 At 22l 7,200 12,200 A5,000
Oget==EH| 2,200
— 0ol =06 28 2372 € 2= M
By 2,200,000& * 14 2,200
o2g8+g 5,000
—HOoIH =0l 28 ZA==E
100,000& * 502/ 5,000
206 = Hl 3,000 3,000 0
01 MZ 4l 3,000 3,000 0
Onlolz =0lef 22 M=ZHI
3,000,000& = 14 3,000
306 93 1,135,500 1,147,500 A 12,000
01 &= 1,135,500 1,147,500 A 12,000
Ox&s ss&EdlE N& 45,000& = 2,000H 90,000
Oxs Zu=wa 249 263,500,000& = 14 263,500
O=ss Zu=zuws 29 85,500,000& * 14 85,500
Ozstil= Meg =294 68,000,000& * 14l 68,000
OFAaY 2HAEC 2 60,000,0008 » 14 60,000
OZ4d BIIS Y X
10,000,000& * 14 10,000
O=&EAL ZZ2HE 2 50,000,000& = 14 50,000
Onssw JIsA 234 X
50,000& = 2359 = 10& 117,500
ONSsM wEs et [
363,000,000& * 14! 363,000
O &= Hss E2H2(MEINE HED|
2) 28,000,000& * 14l 28,000
308 XXM SO0 A 207,009 0 207,009
QA -7 WSHIELESH HIHES 207,009 0 207,009
O4hdsstu RHdUSH 2E2
207,009,000& * 14 207,009
405 XHoHF S HI 6,000 23,900 A 17,900
01 AL EZFH S 6,000 23,900 A 17,900
OonlolzH =s0le 25 6,000
— 0ol =0IH EESE 2Y
1,500,000 * 4CH 6,000
doHMEes2Y 96,000 161,898 A 65,898
< 25,050
[ia 70,950
307 21201 A 96,000 161,898 A 65,898
< 25,050




2N
X ZH -
L= B

el

IEPYEPN
R0t 2 2SN =XHE
R0t L ZZSUS BNHE

= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
= 70,950
02 It M AMHEE 96,000 161,898 A 65,898
Oz=sstd Soidegss A&
300,000& = 3209 96,000
< 25,050
i 70,950
QOHMEESS2L(XHA) 60,000 63,000 A 3,000
307 glz2tol & 60,000 63,000 A 3,000
02 It M AHEE 60,000 63,000 A 3,000
Osstd doidgsts XN
300,000& = 2009 60,000
OlcHX & Dsu=s Il &= 335,000 300,000 35,000
D= 335,000 300,000 35,000
s X 300,000 300,000 0
308 XX EHH SOl A 300,000 300,000 0
07 MR SAA2LZ 300,000 300, 000 0
OZ=2zgligdn 22 2E3
300,000,000 = 14 300,000
S3JI=SAL 28 & 29 35,000 0 35,000
308 XtXIEHHSOIA 35,000 0 35,000
07 IXNSHH AR S = 35,000 0 35,000
OQOUASAHMEA SSIISAH) 224 K&
2,500,000 = 14X 35,000
HE2IZH (HEXIA4A) 59,064,675 56,932,214 2,132,461
HEIH(BZ) 58,280,802 56,209,716 2,071,086
ol 2AH| 58,280,802 56,159,974 2,120,828
101 @144 Hl 43,205,406 43,034,610 170,796
01 2= 41,544,422 41,432,527 111,895
ozs 31,180,586
—NE=HASAH
95,511,000& = 1.009 = 1H 96,371
—HUSHASH(42)
96,285,500& = 1.009 = 7H 680,065
—4uz3x ASH(52)
79,882,540& = 1.009 * 38%H 3,062,857
— 42X HdSH(RNE2)
85,088,330& = 1.009 » 3H 257,563
— 6= 4,149,800& = 1.009 » 221 = 128 11,104,318
—-7= 3,080,800& * 1.009 * 171 = 12& 6,378,698
— 8= 2,208,800& * 1.009 = 96H » 12& 2,567,439
— 9= 1,755,800& * 1.009 * 2629 » 12& 5,569,918




2N
X ZH -
L= B

el

>

—

ro g2 o2
U 0x 0
Ho Ho
02 02 0
~ 0z
=
0
>

e 02

=5

oY N
~

Of

= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
— K& M
2,867,300& * 1.009 = 32H = 12& 1,110,953
— AL 3,278,200% * 1.009 * 6 » 12& 238,155
— &I (U2)
3,926,400& = 1.009 = 1 = 128 47,541
—H2IAB(OR)
2,754,700 = 1.009 = 2% = 128 66,708
ogz2+¢
27,083,730,000& = 1.009 / 128 * 0.4 * 2 1,821,833
3
OFZ=EIhet3 661,680
— 0548 Ol& 104 O58gt
50,000& = 1318 = 128 78,600
— 108 Ol& 154 058t
60,000& = 79% = 12& 56,880
— 158 0Ol& 20 058t
80,000& = 60 = 12& 57,600
— 2098 Ol&h 25 058t
110,000& = 17 » 128 22,440
— 254 0Ol & 130,000& » 286%H » 12& 446,160
OZUER =& 100,000,000& * 5% 500,000
OJX&EE 482,400
— X 40,0003 = 4809 ~ 123 230,400
—JIEt R2I=F 20,0003 = 2809 » 12& 67,200
— SMAH 60,000& = 190 = 128 136,800
— KUTH KA 100,000& = 4098 « 12E 48,000
O=s0t 52 1,200,000& » 50% » 128 720,000
Ex=Xl 28 40,000& = 1198 » 128 5,280
O+ 43,800
—£Z 50,000& = 37 = 128 22,200
— g3 40,0003 = 459 » 123 21,600
OZYHERaxE 50,0003 * 21H = 12& 12,600
Oliss=2d=Y 301,997
— 52
4,923,900& = 1.009 » 14" » 128 » 4.1% 34,222
— 63
4,325,700& = 1.009 » 86 » 128 * 4.1% 184,677
-73
3,534,200& * 1.009 = 32% * 12& * 4.1% 56,144
— 83
2,898,800& * 1.009 = 3H * 12& * 4.1% 4,318
— GPA
3,709,000& * 1.009 = 2% * 12&8 * 4.1% 3,683




2N
X ZH -
L= B

el

ro o o2
1% 02 oA
Ho HO =

>

==
SZH (HER A
goI(5Z)

SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
— K& M
3,817,800& * 1.009 = 10 * 12& * 4.1% 18,953
OS4+g24g 707,160
—Jl=d8+% 141,240
- 55 50,0003 = 8H » 123 4,800
6~72 30,000& = 195 » 12& 70,200
8= 0l 6t 20,000& = 161" » 123 38,640
PN, 60,0003 = 3H » 123 2,160
- XA 50,000 = 32% x 12& 19,200
A2 (3H0] &)
50,000 = 2% = 12& 1,200
SHEFHIIAS(6~73)
10,000 = 149 128 1,680
- 2 FHIIrA2(83010tH)
20,000 = 14% = 12& 3,360
—Jlsd2sY MBS itz 63,240
- Jls At 50,000& * 29 = 12& 1,200
Jsd L JlA
30,000& 1218 » 123 43,560
- AFH DAL 20,000& = 778 « 123 18,480
—oz2ge = 66,600
AsHY U oI EHY
50,000& = 26% = 12& 15,600
EAd=XHE  250,000& * 15H « 123 45,000
=9 xd 250,000& = 29 « 12& 6,000
— YR 80,000& = 6H » 123 5,760
— &Y 4,320
et (MHIIMelE S Ald 22)
120,000& = 3H » 12& 4,320
— SR 426,000
IS (LN F3)
50,000& = 57 = 12& 34,200
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